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MC: amplitude = total energy deposition
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MC: amplitude = generated light, calculated using Birk saturation law
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Data: N20, run 2280

C 500
i 500 10
I A.dA
1400 A dA, P
i Au | o
i 0.8
1200 | A dA
L L 0
1000~ i
B Cuts: -0.45<y **<-0.15 (m) 0.6 Cuts: -0.45<y ><-0.15 (m)
800 0.4<x° 0.4 (m) i 0.4<xy, <0.4 (m)
i 0.92<W<0.98 (GeV) i 0.92<W<0.98 (GeV)
600 0.4
400 [
- 0.2
2001 I
o_lllllIIII|IIII|IIII|IIII|IIII|IIII|IIII|IIIIIIII O_IIII|IIII|IIII|IIII|IIII m
0O 10 20 30 40 50 60 70 80 90 100 0O 10 20 30 40 50 60 70 80 90 100
Amin Amin

Efficiency as probability to have amplitude in ND > A,,;, MeV vs A,in



